
1-10 90 80 70 60 50 40 30 20 10 0

Ex) 13 × 9 = (9 × 9) + ( 4 × 9 )
=

11781 + 36

1) 18 × 4 = (8 × 4) + ( 10 × 4 )
=

7232 + 40

2) 16 × 8 = (9 × 8) + ( 7 × 8 )
=

12872 + 56

3) 7 × 16 = (7 × 6) + ( 7 × 10 )
=

11242 + 70

4) 13 × 3 = (3 × 3) + ( 10 × 3 )
=

399 + 30

5) 15 × 9 = (9 × 9) + ( 6 × 9 )
=

13581 + 54

6) 13 × 4 = (4 × 4) + ( 9 × 4 )
=

5216 + 36

7) 6 × 14 = (6 × 9) + ( 6 × 5 )
=

8454 + 30

8) 17 × 3 = (9 × 3) + ( 8 × 3 )
=

5127 + 24

9) 16 × 5 = (9 × 5) + ( 7 × 5 )
=

8045 + 35

10) 6 × 13 = (6 × 8) + ( 6 × 5 )
=

7848 + 30

Ex. 117

1. 72

2. 128

3. 112

4. 39

5. 135

6. 52

7. 84

8. 51

9. 80

10. 78

     

Use the distributive property to solve each problem.
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1-10 90 80 70 60 50 40 30 20 10 0

Ex) 13 × 9 = (9 × 9) + ( 4 × 9 )
=

11781 + 36

1) 18 × 4 = (8 × 4) + ( 10 × 4 )
=

7232 + 40

2) 16 × 8 = (9 × 8) + ( 7 × 8 )
=

12872 + 56

3) 7 × 16 = (7 × 6) + ( 7 × 10 )
=

11242 + 70

4) 13 × 3 = (3 × 3) + ( 10 × 3 )
=

399 + 30

5) 15 × 9 = (9 × 9) + ( 6 × 9 )
=

13581 + 54

6) 13 × 4 = (4 × 4) + ( 9 × 4 )
=

5216 + 36

7) 6 × 14 = (6 × 9) + ( 6 × 5 )
=

8454 + 30

8) 17 × 3 = (9 × 3) + ( 8 × 3 )
=

5127 + 24

9) 16 × 5 = (9 × 5) + ( 7 × 5 )
=

8045 + 35

10) 6 × 13 = (6 × 8) + ( 6 × 5 )
=

7848 + 30

Ex. 117

1. 72

2. 128

3. 112

4. 39

5. 135

6. 52

7. 84

8. 51

9. 80

10. 78

     

Use the distributive property to solve each problem.
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1-10 90 80 70 60 50 40 30 20 10 0

Ex) 9 × 18 = (9 × 9) + ( 9 × 9 )
=

16281 + 81

1) 3 × 14 = (3 × 7) + ( 3 × 7 )
=

4221 + 21

2) 6 × 12 = (6 × 5) + ( 6 × 7 )
=

7230 + 42

3) 12 × 6 = (7 × 6) + ( 5 × 6 )
=

7242 + 30

4) 8 × 18 = (8 × 9) + ( 8 × 9 )
=

14472 + 72

5) 6 × 12 = (6 × 4) + ( 6 × 8 )
=

7224 + 48

6) 4 × 16 = (4 × 9) + ( 4 × 7 )
=

6436 + 28

7) 4 × 12 = (4 × 7) + ( 4 × 5 )
=

4828 + 20

8) 12 × 4 = (5 × 4) + ( 7 × 4 )
=

4820 + 28

9) 14 × 5 = (8 × 5) + ( 6 × 5 )
=

7040 + 30

10) 12 × 9 = (8 × 9) + ( 4 × 9 )
=

10872 + 36

Ex. 162

1. 42

2. 72

3. 72

4. 144

5. 72

6. 64

7. 48

8. 48

9. 70

10. 108

     

Use the distributive property to solve each problem.
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1-10 90 80 70 60 50 40 30 20 10 0

Ex) 9 × 18 = (9 × 9) + ( 9 × 9 )
=

16281 + 81

1) 3 × 14 = (3 × 7) + ( 3 × 7 )
=

4221 + 21

2) 6 × 12 = (6 × 5) + ( 6 × 7 )
=

7230 + 42

3) 12 × 6 = (7 × 6) + ( 5 × 6 )
=

7242 + 30

4) 8 × 18 = (8 × 9) + ( 8 × 9 )
=

14472 + 72

5) 6 × 12 = (6 × 4) + ( 6 × 8 )
=

7224 + 48

6) 4 × 16 = (4 × 9) + ( 4 × 7 )
=

6436 + 28

7) 4 × 12 = (4 × 7) + ( 4 × 5 )
=

4828 + 20

8) 12 × 4 = (5 × 4) + ( 7 × 4 )
=

4820 + 28

9) 14 × 5 = (8 × 5) + ( 6 × 5 )
=

7040 + 30

10) 12 × 9 = (8 × 9) + ( 4 × 9 )
=

10872 + 36

Ex. 162

1. 42

2. 72

3. 72

4. 144

5. 72

6. 64

7. 48

8. 48

9. 70

10. 108

     

Use the distributive property to solve each problem.
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1-10 90 80 70 60 50 40 30 20 10 0

Ex) 9 × 16 = (9 × 9) + ( 9 × 7 )
=

14481 + 63

1) 3 × 12 = (3 × 8) + ( 3 × 4 )
=

3624 + 12

2) 18 × 4 = (8 × 4) + ( 10 × 4 )
=

7232 + 40

3) 8 × 18 = (8 × 8) + ( 8 × 10 )
=

14464 + 80

4) 4 × 15 = (4 × 7) + ( 4 × 8 )
=

6028 + 32

5) 6 × 16 = (6 × 6) + ( 6 × 10 )
=

9636 + 60

6) 7 × 13 = (7 × 5) + ( 7 × 8 )
=

9135 + 56

7) 5 × 13 = (5 × 7) + ( 5 × 6 )
=

6535 + 30

8) 13 × 3 = (5 × 3) + ( 8 × 3 )
=

3915 + 24

9) 6 × 17 = (6 × 7) + ( 6 × 10 )
=

10242 + 60

10) 18 × 3 = (9 × 3) + ( 9 × 3 )
=

5427 + 27

Ex. 144

1. 36

2. 72

3. 144

4. 60

5. 96

6. 91

7. 65

8. 39

9. 102

10. 54

     

Use the distributive property to solve each problem.
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1-10 90 80 70 60 50 40 30 20 10 0

Ex) 9 × 16 = (9 × 9) + ( 9 × 7 )
=

14481 + 63

1) 3 × 12 = (3 × 8) + ( 3 × 4 )
=

3624 + 12

2) 18 × 4 = (8 × 4) + ( 10 × 4 )
=

7232 + 40

3) 8 × 18 = (8 × 8) + ( 8 × 10 )
=

14464 + 80

4) 4 × 15 = (4 × 7) + ( 4 × 8 )
=

6028 + 32

5) 6 × 16 = (6 × 6) + ( 6 × 10 )
=

9636 + 60

6) 7 × 13 = (7 × 5) + ( 7 × 8 )
=

9135 + 56

7) 5 × 13 = (5 × 7) + ( 5 × 6 )
=

6535 + 30

8) 13 × 3 = (5 × 3) + ( 8 × 3 )
=

3915 + 24

9) 6 × 17 = (6 × 7) + ( 6 × 10 )
=

10242 + 60

10) 18 × 3 = (9 × 3) + ( 9 × 3 )
=

5427 + 27

Ex. 144

1. 36

2. 72

3. 144

4. 60

5. 96

6. 91

7. 65

8. 39

9. 102

10. 54

     

Use the distributive property to solve each problem.
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1-10 90 80 70 60 50 40 30 20 10 0

Ex) 7 × 16 = (7 × 7) + ( 7 × 9 )
=

11249 + 63

1) 14 × 4 = (4 × 4) + ( 10 × 4 )
=

5616 + 40

2) 13 × 8 = (4 × 8) + ( 9 × 8 )
=

10432 + 72

3) 13 × 6 = (8 × 6) + ( 5 × 6 )
=

7848 + 30

4) 7 × 13 = (7 × 8) + ( 7 × 5 )
=

9156 + 35

5) 8 × 13 = (8 × 4) + ( 8 × 9 )
=

10432 + 72

6) 18 × 5 = (9 × 5) + ( 9 × 5 )
=

9045 + 45

7) 7 × 18 = (7 × 9) + ( 7 × 9 )
=

12663 + 63

8) 4 × 17 = (4 × 8) + ( 4 × 9 )
=

6832 + 36

9) 17 × 3 = (7 × 3) + ( 10 × 3 )
=

5121 + 30

10) 18 × 3 = (8 × 3) + ( 10 × 3 )
=

5424 + 30

Ex. 112

1. 56

2. 104

3. 78

4. 91

5. 104

6. 90

7. 126

8. 68

9. 51

10. 54

     

Use the distributive property to solve each problem.
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1-10 90 80 70 60 50 40 30 20 10 0

Ex) 7 × 16 = (7 × 7) + ( 7 × 9 )
=

11249 + 63

1) 14 × 4 = (4 × 4) + ( 10 × 4 )
=

5616 + 40

2) 13 × 8 = (4 × 8) + ( 9 × 8 )
=

10432 + 72

3) 13 × 6 = (8 × 6) + ( 5 × 6 )
=

7848 + 30

4) 7 × 13 = (7 × 8) + ( 7 × 5 )
=

9156 + 35

5) 8 × 13 = (8 × 4) + ( 8 × 9 )
=

10432 + 72

6) 18 × 5 = (9 × 5) + ( 9 × 5 )
=

9045 + 45

7) 7 × 18 = (7 × 9) + ( 7 × 9 )
=

12663 + 63

8) 4 × 17 = (4 × 8) + ( 4 × 9 )
=

6832 + 36

9) 17 × 3 = (7 × 3) + ( 10 × 3 )
=

5121 + 30

10) 18 × 3 = (8 × 3) + ( 10 × 3 )
=

5424 + 30

Ex. 112

1. 56

2. 104

3. 78

4. 91

5. 104

6. 90

7. 126

8. 68

9. 51

10. 54

     

Use the distributive property to solve each problem.
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1-10 90 80 70 60 50 40 30 20 10 0

Ex) 13 × 5 = (8 × 5) + ( 5 × 5 )
=

6540 + 25

1) 16 × 8 = (9 × 8) + ( 7 × 8 )
=

12872 + 56

2) 16 × 7 = (7 × 7) + ( 9 × 7 )
=

11249 + 63

3) 3 × 18 = (3 × 9) + ( 3 × 9 )
=

5427 + 27

4) 6 × 13 = (6 × 7) + ( 6 × 6 )
=

7842 + 36

5) 17 × 5 = (8 × 5) + ( 9 × 5 )
=

8540 + 45

6) 14 × 8 = (7 × 8) + ( 7 × 8 )
=

11256 + 56

7) 15 × 9 = (9 × 9) + ( 6 × 9 )
=

13581 + 54

8) 17 × 4 = (7 × 4) + ( 10 × 4 )
=

6828 + 40

9) 17 × 5 = (7 × 5) + ( 10 × 5 )
=

8535 + 50

10) 5 × 16 = (5 × 6) + ( 5 × 10 )
=

8030 + 50

Ex. 65

1. 128

2. 112

3. 54

4. 78

5. 85

6. 112

7. 135

8. 68

9. 85

10. 80

     

Use the distributive property to solve each problem.
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1-10 90 80 70 60 50 40 30 20 10 0

Ex) 13 × 5 = (8 × 5) + ( 5 × 5 )
=

6540 + 25

1) 16 × 8 = (9 × 8) + ( 7 × 8 )
=

12872 + 56

2) 16 × 7 = (7 × 7) + ( 9 × 7 )
=

11249 + 63

3) 3 × 18 = (3 × 9) + ( 3 × 9 )
=

5427 + 27

4) 6 × 13 = (6 × 7) + ( 6 × 6 )
=

7842 + 36

5) 17 × 5 = (8 × 5) + ( 9 × 5 )
=

8540 + 45

6) 14 × 8 = (7 × 8) + ( 7 × 8 )
=

11256 + 56

7) 15 × 9 = (9 × 9) + ( 6 × 9 )
=

13581 + 54

8) 17 × 4 = (7 × 4) + ( 10 × 4 )
=

6828 + 40

9) 17 × 5 = (7 × 5) + ( 10 × 5 )
=

8535 + 50

10) 5 × 16 = (5 × 6) + ( 5 × 10 )
=

8030 + 50

Ex. 65

1. 128

2. 112

3. 54

4. 78

5. 85

6. 112

7. 135

8. 68

9. 85

10. 80

     

Use the distributive property to solve each problem.
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1-10 90 80 70 60 50 40 30 20 10 0

Ex) 14 × 3 = (4 × 3) + ( 10 × 3 )
=

4212 + 30

1) 3 × 13 = (3 × 7) + ( 3 × 6 )
=

3921 + 18

2) 12 × 3 = (5 × 3) + ( 7 × 3 )
=

3615 + 21

3) 6 × 13 = (6 × 8) + ( 6 × 5 )
=

7848 + 30

4) 6 × 15 = (6 × 9) + ( 6 × 6 )
=

9054 + 36

5) 6 × 13 = (6 × 4) + ( 6 × 9 )
=

7824 + 54

6) 16 × 6 = (6 × 6) + ( 10 × 6 )
=

9636 + 60

7) 6 × 13 = (6 × 3) + ( 6 × 10 )
=

7818 + 60

8) 14 × 8 = (5 × 8) + ( 9 × 8 )
=

11240 + 72

9) 14 × 7 = (6 × 7) + ( 8 × 7 )
=

9842 + 56

10) 6 × 18 = (6 × 9) + ( 6 × 9 )
=

10854 + 54

Ex. 42

1. 39

2. 36

3. 78

4. 90

5. 78

6. 96

7. 78

8. 112

9. 98

10. 108

     

Use the distributive property to solve each problem.
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1-10 90 80 70 60 50 40 30 20 10 0

Ex) 14 × 3 = (4 × 3) + ( 10 × 3 )
=

4212 + 30

1) 3 × 13 = (3 × 7) + ( 3 × 6 )
=

3921 + 18

2) 12 × 3 = (5 × 3) + ( 7 × 3 )
=

3615 + 21

3) 6 × 13 = (6 × 8) + ( 6 × 5 )
=

7848 + 30

4) 6 × 15 = (6 × 9) + ( 6 × 6 )
=

9054 + 36

5) 6 × 13 = (6 × 4) + ( 6 × 9 )
=

7824 + 54

6) 16 × 6 = (6 × 6) + ( 10 × 6 )
=

9636 + 60

7) 6 × 13 = (6 × 3) + ( 6 × 10 )
=

7818 + 60

8) 14 × 8 = (5 × 8) + ( 9 × 8 )
=

11240 + 72

9) 14 × 7 = (6 × 7) + ( 8 × 7 )
=

9842 + 56

10) 6 × 18 = (6 × 9) + ( 6 × 9 )
=

10854 + 54

Ex. 42

1. 39

2. 36

3. 78

4. 90

5. 78

6. 96

7. 78

8. 112

9. 98

10. 108

     

Use the distributive property to solve each problem.
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1-10 90 80 70 60 50 40 30 20 10 0

Ex) 6 × 12 = (6 × 2) + ( 6 × 10 )
=

7212 + 60

1) 4 × 17 = (4 × 9) + ( 4 × 8 )
=

6836 + 32

2) 13 × 6 = (5 × 6) + ( 8 × 6 )
=

7830 + 48

3) 7 × 13 = (7 × 3) + ( 7 × 10 )
=

9121 + 70

4) 17 × 8 = (8 × 8) + ( 9 × 8 )
=

13664 + 72

5) 5 × 15 = (5 × 7) + ( 5 × 8 )
=

7535 + 40

6) 7 × 14 = (7 × 8) + ( 7 × 6 )
=

9856 + 42

7) 12 × 7 = (6 × 7) + ( 6 × 7 )
=

8442 + 42

8) 16 × 7 = (9 × 7) + ( 7 × 7 )
=

11263 + 49

9) 16 × 3 = (8 × 3) + ( 8 × 3 )
=

4824 + 24

10) 3 × 15 = (3 × 5) + ( 3 × 10 )
=

4515 + 30

Ex. 72

1. 68

2. 78

3. 91

4. 136

5. 75

6. 98

7. 84

8. 112

9. 48

10. 45

     

Use the distributive property to solve each problem.
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1-10 90 80 70 60 50 40 30 20 10 0

Ex) 6 × 12 = (6 × 2) + ( 6 × 10 )
=

7212 + 60

1) 4 × 17 = (4 × 9) + ( 4 × 8 )
=

6836 + 32

2) 13 × 6 = (5 × 6) + ( 8 × 6 )
=

7830 + 48

3) 7 × 13 = (7 × 3) + ( 7 × 10 )
=

9121 + 70

4) 17 × 8 = (8 × 8) + ( 9 × 8 )
=

13664 + 72

5) 5 × 15 = (5 × 7) + ( 5 × 8 )
=

7535 + 40

6) 7 × 14 = (7 × 8) + ( 7 × 6 )
=

9856 + 42

7) 12 × 7 = (6 × 7) + ( 6 × 7 )
=

8442 + 42

8) 16 × 7 = (9 × 7) + ( 7 × 7 )
=

11263 + 49

9) 16 × 3 = (8 × 3) + ( 8 × 3 )
=

4824 + 24

10) 3 × 15 = (3 × 5) + ( 3 × 10 )
=

4515 + 30

Ex. 72

1. 68

2. 78

3. 91

4. 136

5. 75

6. 98

7. 84

8. 112

9. 48

10. 45

     

Use the distributive property to solve each problem.
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1-10 90 80 70 60 50 40 30 20 10 0

Ex) 14 × 5 = (9 × 5) + ( 5 × 5 )
=

7045 + 25

1) 4 × 13 = (4 × 7) + ( 4 × 6 )
=

5228 + 24

2) 7 × 12 = (7 × 6) + ( 7 × 6 )
=

8442 + 42

3) 16 × 8 = (9 × 8) + ( 7 × 8 )
=

12872 + 56

4) 14 × 6 = (5 × 6) + ( 9 × 6 )
=

8430 + 54

5) 6 × 13 = (6 × 7) + ( 6 × 6 )
=

7842 + 36

6) 12 × 7 = (8 × 7) + ( 4 × 7 )
=

8456 + 28

7) 14 × 3 = (7 × 3) + ( 7 × 3 )
=

4221 + 21

8) 5 × 17 = (5 × 9) + ( 5 × 8 )
=

8545 + 40

9) 8 × 16 = (8 × 7) + ( 8 × 9 )
=

12856 + 72

10) 5 × 13 = (5 × 6) + ( 5 × 7 )
=

6530 + 35

Ex. 70

1. 52

2. 84

3. 128

4. 84

5. 78

6. 84

7. 42

8. 85

9. 128

10. 65

     

Use the distributive property to solve each problem.
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1-10 90 80 70 60 50 40 30 20 10 0

Ex) 14 × 5 = (9 × 5) + ( 5 × 5 )
=

7045 + 25

1) 4 × 13 = (4 × 7) + ( 4 × 6 )
=

5228 + 24

2) 7 × 12 = (7 × 6) + ( 7 × 6 )
=

8442 + 42

3) 16 × 8 = (9 × 8) + ( 7 × 8 )
=

12872 + 56

4) 14 × 6 = (5 × 6) + ( 9 × 6 )
=

8430 + 54

5) 6 × 13 = (6 × 7) + ( 6 × 6 )
=

7842 + 36

6) 12 × 7 = (8 × 7) + ( 4 × 7 )
=

8456 + 28

7) 14 × 3 = (7 × 3) + ( 7 × 3 )
=

4221 + 21

8) 5 × 17 = (5 × 9) + ( 5 × 8 )
=

8545 + 40

9) 8 × 16 = (8 × 7) + ( 8 × 9 )
=

12856 + 72

10) 5 × 13 = (5 × 6) + ( 5 × 7 )
=

6530 + 35

Ex. 70

1. 52

2. 84

3. 128

4. 84

5. 78

6. 84

7. 42

8. 85

9. 128

10. 65

     

Use the distributive property to solve each problem.
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1-10 90 80 70 60 50 40 30 20 10 0

Ex) 13 × 6 = (9 × 6) + ( 4 × 6 )
=

7854 + 24

1) 5 × 14 = (5 × 9) + ( 5 × 5 )
=

7045 + 25

2) 16 × 4 = (9 × 4) + ( 7 × 4 )
=

6436 + 28

3) 15 × 8 = (7 × 8) + ( 8 × 8 )
=

12056 + 64

4) 13 × 3 = (5 × 3) + ( 8 × 3 )
=

3915 + 24

5) 12 × 7 = (9 × 7) + ( 3 × 7 )
=

8463 + 21

6) 5 × 16 = (5 × 6) + ( 5 × 10 )
=

8030 + 50

7) 17 × 3 = (8 × 3) + ( 9 × 3 )
=

5124 + 27

8) 18 × 6 = (9 × 6) + ( 9 × 6 )
=

10854 + 54

9) 13 × 7 = (8 × 7) + ( 5 × 7 )
=

9156 + 35

10) 4 × 15 = (4 × 6) + ( 4 × 9 )
=

6024 + 36

Ex. 78

1. 70

2. 64

3. 120

4. 39

5. 84

6. 80

7. 51

8. 108

9. 91

10. 60

     

Use the distributive property to solve each problem.
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1-10 90 80 70 60 50 40 30 20 10 0

Ex) 13 × 6 = (9 × 6) + ( 4 × 6 )
=

7854 + 24

1) 5 × 14 = (5 × 9) + ( 5 × 5 )
=

7045 + 25

2) 16 × 4 = (9 × 4) + ( 7 × 4 )
=

6436 + 28

3) 15 × 8 = (7 × 8) + ( 8 × 8 )
=

12056 + 64

4) 13 × 3 = (5 × 3) + ( 8 × 3 )
=

3915 + 24

5) 12 × 7 = (9 × 7) + ( 3 × 7 )
=

8463 + 21

6) 5 × 16 = (5 × 6) + ( 5 × 10 )
=

8030 + 50

7) 17 × 3 = (8 × 3) + ( 9 × 3 )
=

5124 + 27

8) 18 × 6 = (9 × 6) + ( 9 × 6 )
=

10854 + 54

9) 13 × 7 = (8 × 7) + ( 5 × 7 )
=

9156 + 35

10) 4 × 15 = (4 × 6) + ( 4 × 9 )
=

6024 + 36

Ex. 78

1. 70

2. 64

3. 120

4. 39

5. 84

6. 80

7. 51

8. 108

9. 91

10. 60

     

Use the distributive property to solve each problem.
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1-10 90 80 70 60 50 40 30 20 10 0

Ex) 16 × 4 = (7 × 4) + ( 9 × 4 )
=

6428 + 36

1) 6 × 13 = (6 × 3) + ( 6 × 10 )
=

7818 + 60

2) 5 × 16 = (5 × 8) + ( 5 × 8 )
=

8040 + 40

3) 12 × 6 = (5 × 6) + ( 7 × 6 )
=

7230 + 42

4) 4 × 13 = (4 × 5) + ( 4 × 8 )
=

5220 + 32

5) 14 × 4 = (6 × 4) + ( 8 × 4 )
=

5624 + 32

6) 8 × 15 = (8 × 7) + ( 8 × 8 )
=

12056 + 64

7) 17 × 5 = (8 × 5) + ( 9 × 5 )
=

8540 + 45

8) 14 × 3 = (7 × 3) + ( 7 × 3 )
=

4221 + 21

9) 9 × 16 = (9 × 6) + ( 9 × 10 )
=

14454 + 90

10) 13 × 9 = (7 × 9) + ( 6 × 9 )
=

11763 + 54

Ex. 64

1. 78

2. 80

3. 72

4. 52

5. 56

6. 120

7. 85

8. 42

9. 144

10. 117

     

Use the distributive property to solve each problem.
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1-10 90 80 70 60 50 40 30 20 10 0

Ex) 16 × 4 = (7 × 4) + ( 9 × 4 )
=

6428 + 36

1) 6 × 13 = (6 × 3) + ( 6 × 10 )
=

7818 + 60

2) 5 × 16 = (5 × 8) + ( 5 × 8 )
=

8040 + 40

3) 12 × 6 = (5 × 6) + ( 7 × 6 )
=

7230 + 42

4) 4 × 13 = (4 × 5) + ( 4 × 8 )
=

5220 + 32

5) 14 × 4 = (6 × 4) + ( 8 × 4 )
=

5624 + 32

6) 8 × 15 = (8 × 7) + ( 8 × 8 )
=

12056 + 64

7) 17 × 5 = (8 × 5) + ( 9 × 5 )
=

8540 + 45

8) 14 × 3 = (7 × 3) + ( 7 × 3 )
=

4221 + 21

9) 9 × 16 = (9 × 6) + ( 9 × 10 )
=

14454 + 90

10) 13 × 9 = (7 × 9) + ( 6 × 9 )
=

11763 + 54

Ex. 64

1. 78

2. 80

3. 72

4. 52

5. 56

6. 120

7. 85

8. 42

9. 144

10. 117

     

Use the distributive property to solve each problem.
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